65. King Schmendrake of Schmoozeland built a wall
around his castle. The wall has two sides that are
3,079 feet in length and two sides that are 6,118
feet long. What is the perimeter of the wall?

The perimeter of the wall is feet.
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66. Explorers Ernie and Ernesta recently discovered the Lost City of Cole
Slaw. It took them 365 days to measure the boundaries of the city.
They found that it had a length of 55 miles. The length was 5 times

the width. What was the area of the lost city?

The area of the lost city was square miles.
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67. The Eastville Egrets were laying out a football field for their games.
The length of the field will be 2 times the width of the field. The length
of the field is 100 yards. What will the perimeter of the field be?

The perimeter of the field will be yards.
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68. The Gazookians were building the first playground
on Planet Gazook. Gazookians are very small so
the playground is 10 cm in length and has a width
of 14 cm. What is the area of the playground?

The area of the playground is square centimeters.
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